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st | 10890 200m B H22) w23.70 (+2.6)|iE:& A(2) w23.73 (+2.6)| KI E#E(2) w24.29 (+2.6)| €& K:AI(2) w25.00 (+2.6)| E% FEKHA2) w25.11 (+2.6)|#IR —3H(2) w25.43 (+2.6)
Bam - sh&eh #E-FT iR BEHS iR BEHG i BEHG Hin BEHG
W0A9H 100m A IRAEQ) 57.08|REE® KRXK(2) 59.56|# fEAEA2) 1:00.18 (¥R [L#8(2) 1:00.44 [/ #k B5FR(2) 1:02.05(FE Q) 1:03.38| E+E Hik(2) 1:04.70|;E% HHQ) 1:04.78
Bam - sh&eh R BRHF ER-ARH iR AFH FHFEE - RER fE % KRS HiR- AFH HFE - H—h
1089 800m RIS BIME(2) 2:17.73| R HZE(2) 2:29.28|FE A XIR(2) 2:30.33| il E(2) 2:34.43| AR ME01) 2:36.93| KIF F40(1) 2:39.86|/\Hk FEEF(2) 2:4027|BH #E}2) 2:43.43
i BRp It - 2FETH HENEE—F FHFEM-ERAKRT BaP- T HE-HEE—P FR- Rk HE-HEE—F
1089 1500m #}AR HFH®G) 4:33.90|7%& E(2) 4:36.01[FTA &I(1) 4:37.77| TR BIZ(1) 4:46.42|¥2L #HK(2) 44791 |HE BHQ) 45229| B K—(2) 4:57.37)/\F [BH2) 4:59.20
Bam - sh&eh AER-ART FRE- KNP iR MEFRT FHFEE - RER HHEE KEFFH FHFEE - AAH #E-F)G
W0A9H 3000m Al fEEQR) 10:08.05/M#k R H(2) 10:13.09 5+ A1) 10:2551|BK Bh(2) 10:32.93(FiH HBA1) 10:33.44 1% EEHEH(2) 10:35.35
FRME-F—h B BRP ER-ARH FHFEE- AR ER-ARF HiR- AFH
L0A9H I AR FAEQ) 16.25 (+0.8)|EAT EFI(2) 17.27 (+0.8)| X3 #(2) 17.35 (+0.8)|BAJIl f22H(2) 19.04 (+0.8)|#3 Hk(2) 20.24 (+0.8)| B R #AK(2) 20.29 (+1.2)[ 85K 1&2H(1) 2062 (+1.2)| |+ EZ(2) 20.80 (+0.8)
RE-REFH bRk bRk HiR- AFH HiR- AFH HiR-AFH iR AR iR AR
I B KR 47.12| B KPS 4748|518 BEHH 47.55|F1R- Kig 47.76(FFKA-F—h 47.88(FFKH - KAFA 4833 | T FME - KEFH 48.53| ¥R B 49.67
ED W@ KE BHQ) E% EAH2 HEE 182 B EHQ TH FF2) wE FEOQ) S BlN(2)
L0A9RA [ 4x100mR [FH43E HHE) BF ZHQ) MR —2) IR ZEHB(2) 2R 7L i EHQ L 2 (2) SERE E(2)
B SnE(2) KiE H(2) K EIE(2) HEH BAQ &R EEQ) WE DF2) #HEH 120 EiE RE®M
= R@ IR ILE(2) £IF KFQ) BE Q) mE IREQ) 7\ EKQ) #|A EKREQ) X)L EHE()
L0A9H - TnEE EAHQ2) 1.65| R 1Dik(2) 1.60
FRE A FRE-KEFH
L0A9H - XA BF1) 1.90
FRE-RAED
1089H ik L 2 (2) 5.98 (+1.9)| @K Q) 5.63 (+1.1)| 2% H24EQ) 553 (-2.1)|HHE F1(©2) w5.45 (+2.2)[iE8 f#34(2) 542 (0.0)[B&RE E(2) 5.30 (+0.2)| A+t #EZE(2) 510 (+1.0)|/h#k 4K (1) 5.03 (+1.0)
FEA-REFF 8- K+ 5% REH ER-ARF FHFEM-RWh BaM- g i BEHS BNt
L0A9H . RFt FHHO) 1043|101 B&E)(2) 8.64|HiE REQ 860[FA =&/ 7.49|/\1E BE{ZER(1) 748|1REE EQ 117|EE HEOD 6.44|BH BR() 5.91
FRME- k2 Kp FEB- kLR It - BFET Jt3% - BFET #HE-FG B K B K FRE-ELKP
10A98 | vy sa0— Bk EREO) 49.97| KRB #HKREA) 46.35| B+)Il &K@ 4317(NEE E(1) 41.98(MEHE BEQ 39.88( B 1HR2) 30.93( )i (1) 299238 —2>1) 14.18
FEA-REFF FRE-REFH 8- Rk B K HFEE-E—Fh BaM- g B K B K
wren | wEs EFE A2 2182| AR BEH(2) 1509| =I5 {2F4(2) 1241|352 1%5(1) 931
iR BRp AR -ARH ER-ARH #in-KEH
10H9A 110mH 15.85 (+0.2) 17.33 (+0.2) 22.35 (+0.2) 22.88 (+0.2)
10H9H L 8.40 7.35 6.89 7.06
109H A& v bk 1.60 1.40 1.45 1.35
10H9H 400m 55.53 1:04.46 1:00.35 1:08.13
HAR KM 12.34 (-1.8)[KHT ZZ(1) 12.49 (-1.8)[BIR (1) 12.66 (-1.8)[FE EAX(1) 12,96 (-1.8)| E+E &) 13.03 (-1.8)| &A1) 13.05 (-1.8)|#&#E &) 13.11 (-0.4)[F@ A A1) 13.15 (-0.5)
FEB-RP iR AH HEB-F— #im- K BaM- g - NEtep win BEEHS BaM- g
AR BAN) 13.15 (-1.0)
VERF [ 1049A 100m HREE REFT
W #RKR0) 13.15 (-0.4)
#E-FE) T
R ALR>1) 13.15 (-1.0)
;iR KPS
2357 | 105798 oom | ERE EX® 1157 (-02)| & HREEG) 172 (-02)| &3 FHE) 177 (-02)| /Nt BK() 11.83 (-0.2)|FFE EH(3) 11.86 (-0.2)| 7k EL(Q) 1202 (-02) 48K EEA(2) 12,11 (-08)|ER 7L(2) 12.14(-0.2)
HRE-E—h BR-ARF HRE- LiEh fE - RET FHRE- AP HHEE-AALp #E-FE) HFEE - E—h
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ERGil=d Me ke e Bt 4
H 4+ A 141 2 3L 4T 5hC 64iL i (A
skt | 10890 200m AN BREQG) w26.68 (+3.1)| HH HBEH(?) w27.04 (3.0 FN FHE?) w29.28 (+3.1)|/NE RHK(2) w29.48 (+3.1)|H)I £E(2) w3021 (+3.1)| K4 FHE(2) w3047 3.1 RANI FEN) w32.14 (+3.7)|{kBE MEE(1) w33.63 (+3.7)
iR KH FRE- KNP FRE- KNP FIE - KRR BaP- T Bapa- s iR A HFEE-ELART
10H9H 400m
1089 800m =E BEKR() 2:24.92| =Bk MEQ1) 2:27.89|Ei#E FiR(2) 2:40.47|1FBE FHH(2) 2:4053|8R%F ZEHRE(Q) 2:42.02|i%:8 BRI 2:44.75|18 EA1) 2:45.77|HEE FIK(2) 2:46.38
AR AR AR AR FRE RS FHFEE - RER FHFEM-H—Fh FHFEM-ERART #t £ - EehZ(ch) R Ak
1089 1500m #A EPQ) 5:18.71|if:@ 342 5:20.32| Il HEE(3) 5:29.56 | B EH(2) 5:33.38|fFEE UV &U(2) 5:44.10 )1l FR(2) 5:51.62| A FKFI(1) 5:58.18|1E AR #£(2) 6:02.13
BR-ARF FRE RS BT AR -ARLS FFEE - AALH BaPa- s FHFEM-ERART HFE - H—h
W0A9H 3000m Al BF@) 11:3951 & & &) 12:2256|5R 4 HEFQ2) 12:39.82( 2% EHR(2) 14:20.33
i BRp AR AR TR Ak iR Nt
1089 100mH 2 b (0] 17.77 (+0.3)[#E4 B (©2) 19.13 (+0.3)[#H £%(2) 21.31 (+0.3)
It - B2 FE B AFH ER-ARH
R 52.42|F M- AL 54.32|#iiR- AP & 54.35 | B & Fr - KR 55.12|F % HE-RIFH 55.76 R4 M- Fh g 56.03| HR-HRS 56.28| 41 L - #f £ sh () 57.05
K& BiN2) I <BHA(2) b1l 3 G AHEH MEQ) i FiR2) AF FEQ) HE W@ A HEF)
10H9H | 4x100mR [FZ B2 HH BEQ) BE ERD INE RR(Q2) FEE M@ L= =10)) 2% LXEQ2) E EBEEQ
i TEHEQ) =H TE@) & BIE®0) N BT BT TR I ERQ2) J\E FIR(2) AE B
REA KT B FHEQ) EE) #H HEQ BB 1R AR FR2) EE B2 BiE UnYQ
W0A9H - P TR®) 1.25|H% #WZEQ) 120(118 HE() 1.20| =48 EiBQ) 1.15
FRE - RAED FFE A FRE RS HFEE - RET
1089 - Em EQ w4.66 (+4.8)|EiE ZF(2) wa.56 (+2.7)[iEE BAQ) w4.29 (+4.2)|ZEHE EE(Q2) 407 (+1.5)|=H 7E(2) w4.04 (+2.5)| KiE Se8E(1) w4.04 (+3.3)[/E FE(1) 3.89 (+2.0)|/\E FW(2) w3.83 (+3.2)
FRE-FE—h It - BFET It - BFET FHFEM-R"h FFEE-AALH ;iR KEH HRE- EEFH ER-ARF
KiE E#Q) 10.24| 1Nk CCA2) 8.84|lLO T2 8.13| KM (2 751| A E&EQ2) T3[R A(Q) 6.66| L% AZ(2) 6.45
. [ 5% KRS B BRP & - RE S fE % - REH HRE- EEFH FHRE-E2KP HHEE-R"h
10H9E fa
I EEQ) 6.45
FRA-LEFP
e o IR G 39.70| /Il EFR(Q) 2224|548 KE®1) 14.34|[RE Bil() 8.77
10H9H [ ¥ 4~")ysAn—
- BRH HER-F—F FRE RS HFEE - FEH
wAon | mmmss BiE 1RFR2) 1807|3Z)Il <B#(2) 17T13|RBE 3 H#N2) 1564| E5% BIE() 1322|172 M RER1) 1050
FEB-RIBP FRE- KNP - BRp ik BERB ik BERR
10H9A 100mH 17.36 (+0.9) 17.48 (+0.9) 17.28 (+0.9) 21.14 (+0.9) 21.03 (+0.9)
10H9A A& ek 1.25 1.25 1.20 1.20 1.15
10H9A L 7.53 7.37 6.01 8.08 4.58
10H9H 200m w 29.42 (+2.8) w 30.44 (+2.8) w 30.99 (+2.8) w 31.38 (+2.8) w 31.54 (+2.8)
ekt | 10598 100m R f&E®0) 13.39 (-0.6)[&4& FIE1) 13.77 (-0.6)[BB/R EE&EZ(D) 14.00 (+2.0)|i@HF (1) 14.16 (-0.6)[fNE OHHA(1) 14.23 (-0.6)[;ATE B|AE(1) 14.35 (+2.0) 48 #HIE®) 14.36 (-0.6)[HHE HZX(1) 14.38 (-0.6)
FR -k B K H AR-ARF #in- KEH #in- KEH # £ Eeh % () ;iH-KPEH ;iR KPS
9.3t 7| 1098 100m R EnQ 1321 (+0.2)[/NA HEQ) 13.38 (+0.2)( 2% 10X (2) 1352 (+0.2)| & F FLIEQ) 13.55 (+0.2)[ 78R #1R(2) 13.78 (+1.0)| L& 10VF(2) 13.82 (+0.2)|FE& TE(2) 13.83 (+1.0)| K4& Zi\(2) 14.00 (+0.2)
FR - HERMEE—FH AR-ARF Hin- KigH BaM- g HRA-KEFP iR KRH BRIk

w (wind assist) : IBJE &




